Clau Prasico Tor Quiz#3_ acvns
Find the ¢ value such that -1 < ¢ < 4 that is

guaranteed by the Mean Value Theorem for
the function below on the interval [-1, 4]

f(x)=-2x"+12x-13
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Find the ¢ value(s) such that 0 < ¢ < 27 that

is guaranteed by the Mean Value Theorem
tor the function below on the interval

[0, 277 ]
g(x) = cos(x)—sin(x)

oW (g = 8'@()

Cclgﬂw;g@ = —sin(x) — cos (x)
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How can you be assured that g(x) =0 at

T
some point over the interval [0, 5 1?

2(x) = cos(x) —sin(x)
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You will need a calculator for these next two problems.

The function f has first derivative given by f“(x) = -1—4%—3- - What is the x-coordinate of the inflection
x+x
2 \) point of the graph of f ?

{A) 1.008 (B) 0.473 0o D) -0278 (E) The graph of f has no inflection point

The derrvative of the function f is given by f'(x}=x"cos [xz). How many points of
%)

inflection does the graph of f have on the open interval (-2.2)?

(A) One (B) Two l (C) Three ‘ (D)} Fowr (E)} Five
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3) An observer watches a rocket launch from a distance of T
2 kilometers. The angle of elevation 7 is increasing at A

V4 0 T
60 radians per second at the instant when 4 -

How fast is the rocket climbing at that instant?

y(t)
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A cardboard box with square ends needs to
be constructed using 2400 square inches of
cardboard. Determine the dimensions that
will maximize the amount of popcorn that
can be held in this box.
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